

JAIME C. LACT

**ALDREUS B. LAVIÑA** 







# Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS LAGUNA 2<sup>ND</sup> DISTRICT ENGINEERING OFFICE

Los Baños, Laguna, Region IV-A



Contract ID : 25DI0143

Contract Name : Construction of Drainage, Brgy. Sampiruhan,

Calamba City, Laguna

Location of the Contract : Brgy. Sampiruhan, Calamba City, Laguna

# FORM OF CONTRACT AGREEMENT

# **KNOW ALL MEN BY THESE PRESENTS:**

This **CONTRACT AGREEMENT,** made this **27**th day of **June, 2025** by and between:

The GOVERNMENT OF THE REPUBLIC OF THE PHILIPPINES through the Department of Public Works and Highways – Laguna 2<sup>ND</sup> District Engineering Office represented herein by **NAPOLEON T. ABRIL, District Engineer**, duly authorized for this purpose, with main office address at **DPWH Laguna 2<sup>ND</sup> District Engineering** Office, Los Baños, Laguna, hereinafter referred to as the "PROCURING ENTITY";

- and -

**DATZLAV CONSTRUCTION**, a **single proprietorship** organized and existing under and by virtue of laws of the Republic of the Philippines, with main office address at 232 A. Mabini St., Brgv. Poblacion II, Santa Cruz, Laguna, represented herein by **NEMESIS ALDREUS B. LAVIÑA**, **General Manager** duly authorized for this purpose, hereinafter referred to as the "CONTRACTOR;"

## WITNESSETH:

WHEREAS, the PROCURING ENTITY is desirous that the CONTRACTOR executes the Works under 25DI0143 - Construction of Drainage, Bray, Sampiruhan, Calamba City, Laguna, hereinafter called "the Works," and the PROCURING ENTITY has accepted the Calculated Bid of the CONTRACTOR for the execution and completion of the Works at the calculated unit bid prices shown in the attached Bill of Quantities, or a total Contract price of Four Million Eight Hundred Thirty One Thousand Two Hundred Sixty Four Pesos Only (P 4.831,264.00).

WHEREAS, the whole WORKS in this PROJECT as covered by this CONTRACT shall be completed within **120** calendar davs in accordance with the provisions of the bid documents.

DPWH-INFR-51-2016 Page **1** of **5** 



JAIME C. LACTANIN

# Government of the Republic of the Philippines (DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS)



# Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS LAGUNA 2<sup>ND</sup> DISTRICT ENGINEERING OFFICE

Los Baños, Laguna, Region IV-A



: 25DI0143 Contract ID

**Contract Name** : Construction of Drainage, Brgy. Sampiruhan,

Calamba City, Laguna

Location of the Contract : Brgy. Sampiruhan, Calamba City, Laguna

The items of	of work covered under this co	ntract are	enumerated	hereunder, viz	z:
Item No.	Description	Unit	Quantity	Unit Cost (Php)	Total Amount (Php)
PART A	<b>FACILITIES FOR THE EN</b>	GINEER	•		
A.1.1 (8)	Provision of Field Office for the Engineer (Rental Basis)	Month	4.00	10,248.00	40,992.00
A.1.1 (11)	Provision of Furniture/Fixtures, Equipment & Appliances for the Field Office for the Engineer	Lump Sum	1.00	20,291.04	20,291.04
A.1.4 (1)	Provision of Progress Photographs	Month	4.00	112.73	450.92
PART B	OTHER GENERAL REQUIREMENTS				
B.5	Project Billboard / Signboard	Each	3.00	4,727.45	14,182.35
B.7 (2)	Occupational Safety and Health Program	Lump Sum	1.00	161,114.49	161,114.49
B.8 (2)	Traffic Management	Lump Sum	1.00	506,988.95	506,988.95
B.9	Mobilization / Demobilization	Lump Sum	1.00	26,972.74	26,972.74
PART C	EARTHWORK				
101 (1)	Removal of Structures and Obstruction	Lump Sum	1.00	106,421.03	106,421.03
103 (1) a	Structure Excavation - Common Soil	Cubic Meter	122.00	343.73	41,935.06
PART F	BRIDGE CONSTRUCTION	<u> </u>			
404 (1) a	Reinforcing Steel (Grade 40)	Kg.	13,335.00	72.59	967,987.65
404 (1) b	Reinforcing Steel (Grade 60)	Kg.	310.00	75.15	23,296.50
405 (1) a3	Structural Concrete (20.68Mpa - Class A- 28 days)	Cu. m.	124.00	16,391.65	2,032,564.60
407 (8)	Lean Concrete (Class B (16.5 MPa))	Cu. m.	20.00	5,777.36	115,547.20
PART G	DRAINAGE AND SLOPE F	ROTECTI	ON STRUCT	TURES	
502 (5)	Metal Frames and Gratings, Type	Pair	21.00	14,454.87	303,552.27
PART H	MISCELLANEOUS STRUC	TURES			
600 (7)	Curb and Gutter (Precast)	Pc.	195.00	2,404.96	468,967.20
	GRAND TOTAL (Php) 4,831,				



**ESIS ALDREUS B. LAVIÑA** 

JAIME C. LAC





# Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS

# LAGUNA 2<sup>ND</sup> DISTRICT ENGINEERING OFFICE

Los Baños, Laguna, Region IV-A



Contract ID : 25DI0143

Contract Name : Construction of Drainage, Brgy. Sampiruhan,

Calamba City, Laguna

Location of the Contract : Brgy. Sampiruhan, Calamba City, Laguna

**NOW, THEREFORE**, for and consideration of the foregoing premises, the parties hereto agree as follows:

- In this CONTRACT AGREEMENT, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, *viz*.:
  - (1) Philippine Bidding Documents (PBDs);
    - i. Drawings/Plans;
    - ii. Specifications;
  - iii. Bill of Quantities;
  - iv. General and Special Conditions of Contract;
  - v. Supplemental or Bid Bulletins, if any;
  - (2) Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (*e.g.*, Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- (3) Performance Security;
- (4) Notice of Award of Contract and the Bidder's conforme thereto; and
- (5)Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- 3. In consideration of the payments to be made by the PROCURING ENTITY to the CONTRACTOR as hereinafter mentioned, the CONTRACTOR hereby covenants with the PROCURING ENTITY to execute and complete the Works and remedy any defects therein in conformity with the provisions of this CONTRACT AGREEMENT in all respects.
- 4. In consideration of the execution and completion of the Works by the CONTRACTOR, the PROCURING ENTITY hereby covenants to pay the CONTRACTOR the unit prices in the CONTRACTOR's Calculated Bid, as applied to the actual quantities accomplished as certified by the PROCURING ENTITY under the provisions of this CONTRACT AGREEMENT, at the times and in the manner prescribed by this CONTRACT AGREEMENT.

RILINE E. VALENCIAN

DEPARTMENT OF PUBLIC WORKS

NAPOLEON T. ABRIL

DPWH-INFR-51-2016 Page **3** of **5** 



# Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS LAGUNA 2<sup>ND</sup> DISTRICT ENGINEERING OFFICE





Los Baños, Laguna, Region IV-A

Contract ID : 25DI0143

: Construction of Drainage, Brgy. Sampiruhan, Contract Name

Calamba City, Laguna

Location of the Contract : Brgy. Sampiruhan, Calamba City, Laguna

.....

IN WITNESS WHEREOF, the parties hereto set their respective hands on the day,

month and year first above written.

PROCURING ENTITY: **CONTRACTOR:** 

Represented by:

Represented by:

JAIME C. LACTANIN Chief, Construction Section

General Manager

Witnessed by:

Accountant III Finance Section

**APPROVED:** 

**NAPOLEON T. ABRIL** 

District Engineer

JUL 0 4 2025 Date of Approval:

DPWH-INFR-51-2016 Page **4** of **5** 

# Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS LAGUNA 2<sup>ND</sup> DISTRICT ENGINEERING OFFICE

Los Baños, Laguna, Region IV-A



Contract ID : 25DI0143

Contract Name : Construction of Drainage, Brgy. Sampiruhan,

Calamba City, Laguna

Location of the Contract : Brgy. Sampiruhan, Calamba City, Laguna

REPUBLIC OF THE PHILIPPINES) PROVINCE OF LAGUNA ) S.S.

Municipality of Los Baños )

# **ACKNOWLEDGEMENT**

BEFORE ME, as the Notary Public for and within the Municipality of Los Baños, Laguna, personally appeared **NAPOLEON T. ABRIL** representing the REPUBLIC OF THE PHILIPPINES (Department of Public Works and Highways – Laguna 2<sup>ND</sup> District Engineering Office), with PRC No. **0048381** valid until **November 9**, **2027** and **NEMESIS ALDREUS B. LAVIÑA** representing **DATZLAV CONSTRUCTION** with Residence Certificate No. 462022 made known to me to be the same person who executed the foregoing **CONTRACT AGREEMENT** and they acknowledge to me that the same is their true act and deed for in behalf of the parties they represented.

This statement consists of **Five (5)** pages, including this page, on which this acknowledgement is written duly signed by the contracting parties and their witnesses on the left margin of the other pages.

IN WITNESS WHEREOF, I have hereunto affixed my Signature and Official Seal 

(Notary Public)



ATTY. SALV Valid until December 31, 2025 Roll of Attorney No. 24794 IBP Lifetime Member No. 011215 Admin Matter No. NP-012 (2025-2026) PTR No. 0991001, 01-03-2025, Santa Cruz MOLE Exemption VII No. 0022338; 01-30-2024 Quezon Ave., Sto. Angel Sur, Santa Cruz, Laguna

JAIME C. LACT

**APRILINE E. VALENCIANO** 

NAPOLEON T. ABRIL District Engineer

AGE NO:

ADDK NO:

SERIES OF

DPWH-INFR-51-2016 Page **5** of **5**